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Glass affords transparency. At the same time, its physical
structure blocks the passage of most physical objects. As a
result, glass affords seeing through, but not the passage of
air or most physical objects (atomic particles can pass
through glass). The blockage of passage can be considered
an anti-affordance — the prevention of interaction. To be
effective, affordances and anti-affordances have to be
discoverable — perceivable. This poses a difficulty with
glass. The reason we like glass is its relative invisibility,
but this aspect, so useful in the normal window, also hides
its anti-affordance property of blocking passage. As a result,
birds often try to fly through windows. And every year,
numerous people injure themselves when they walk (or run)
through closed glass doors or large picture windows. If an
affordance or anti-affordance cannot be perceived, some
means of signaling its presence is required.
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Glass affords transparency. At the same time, its physical
structure blocks the passage of most physical objects. As
a result, glass affords seeing through, but not the passage of
air or most physical objects (atomic particles can pass
through glass). The blockage of passage can be considered
an anti-affordance — the prevention of interaction. To be
effective, affordances(A) and anti-affordances(B) have to
be discoverable — perceivable. This poses a difficulty
with glass(P). The reason we like glass is its relative
invisibility, but this aspect, so useful in the normal window,

also hides its anti-affordance property of blocking
passage(P). As a result, birds often try to fly through
windows. And every year, numerous people injure
themselves(P) when they walk (or run) through closed glass
doors or large picture windows. If an affordance or anti-

affordance cannot be perceived, some means of signaling

its presence(S) is required.
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Historical linguists study the languages spoken today, and
from them make estimates about the ancestral languages
from which they descended. Where possible, linguists also
work from written records on languages in earlier times.
For linguistics (as for genetics), we assume that present
data give us the remnants of earlier communities. But the
definition of “earlier community” is different in each case.
For language, it is assumed that each language has one
parent. In genetics a person has more and more ancestors as
one goes to earlier generations, while a language has a
single ancestor at each stage. The “tree model” of
languages presents the range of languages descended from
an ancestor, and indicates relationships with other
languages descended from the same ancestor. Because of
the single-ancestor characteristics of the linguistic “tree
model,” language gives more evidence on path of early
human migration than does genetics, because it allows for
fewer possibilities.
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Historical linguists study the languages spoken today, and
from them make estimates about the ancestral languages
from which they descended. Where possible, linguists also
work from written records on languages in earlier times.
For linguistics (as for genetics), we assume that present
data give us the remnants of earlier communities. But the
definition of “earlier community” is different in each case.
For language(B), it is assumed that each language has one
parent(B). In genetics(A) a person has more and more
ancestors(A) as one goes to earlier generations, while a
language has a single ancestor at each stage(B). The “tree

model” of languages(B) presents the range of languages

descended from an ancestor, and indicates relationships
with other languages descended from the same ancestor.
Because of the single-ancestor characteristics(B) of the

linguistic “tree model,” language gives more evidence on

path of early human migration(B) than does genetics(A),

because it allows for fewer possibilities(B).
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The people who came before you invented science
because your natural way of understanding and explaining
what you experience is terrible. When you have zero
evidence, every assumption is basically equal. You prefer
to see causes rather than effects, signals in the noise,
patterns in the randomness. You prefer easy-to-understand
stories, and thus turn everything in life into a narrative so
that complicated problems become easy. Scientists work to
remove the narrative, to boil it away, leaving behind only
the raw facts. Those data sit there, naked and exposed, so
they can be reflected upon and rearranged by each new
visitor. Scientists and laypeople will conjure up new stories
using the data, and they will argue, but the data will not
budge. They may not even make sense for a hundred years
or more, but thanks to the scientific method, the stories, full
of biases and fallacies, will crash against the facts and
recede into history.
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The people who came before you invented science
because your natural way of understanding and explaining
what you experience is terrible(P). When you have zero
evidence, every assumption is basically equal(B). You

prefer to see causes rather than effects, signals in the noise,

patterns in the randomness(P). You prefer easy-to-

understand stories, and thus turn everything in life into a
narrative(P) so that complicated problems become easy.

Scientists(B) work to remove the narrative(A), to boil it
away, leaving behind only the raw facts(B). Those data(B)

sit there, naked and exposed, so they can be reflected upon
and rearranged by each new visitor. Scientists and
laypeople will conjure up new stories(A) using the data,
and they will argue, but the data(B) will not budge. They
may not even make sense for a hundred years or more, but
thanks to the scientific method(B), the stories(A), full of
biases and fallacies(P), will crash against the facts(B) and
recede into history.
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